
ASSEMBLY INSTRUCTION
1121-MC19144DT-2448

1

CBA

1 PC 1 PC 4PCS

D

1PC

E

12PCS

F

4PCS

FIG.
2

FIG.
1

M8*20

G

8PCS

100%

70%

H

1PC

I

1PC
P8P5M8*25 Ø17*8*1.5

CBA

1 PC 1 PC 4PCS

D

1PC

E

12PCS

F

4PCS
M8*20

G

8PCS

H

1PC

I

1PC
P8P5M8*25 Ø17*8*1.5



ASSEMBLY INSTRUCTION
1121-MC19144DT-2448

2

FIG.
4

FIG.
3

100%

100%

CBA

1 PC 1 PC 4PCS

D

1PC

E

12PCS

F

4PCS
M8*20

G

8PCS

H

1PC

I

1PC
P8P5M8*25 Ø17*8*1.5



ASSEMBLY INSTRUCTION
1121-MC19144DT-2448

3

FIG.
6

FIG.
5

ADJUSTMENT
Please remove the screws first before 

move

CBA

1 PC 1 PC 4PCS

D

1PC

E

12PCS

F

4PCS
M8*20

G

8PCS

H

1PC

I

1PC
P8P5M8*25 Ø17*8*1.5


